B.A/ B.Sc. 5 Semester (Honours) Examination, 2020 (CBCS)
Subject: Economics
Paper: DSE-2

(Environmental Economics)

Time: 3Hours Full Marks: 60
[The figures in the right hand margin indicate full marks. Candidates are required to give their

answers in their own words as far as practicable.
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1 Answer any Six (6) questions: 5x6 =230
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Discuss the concept of market failure in the presence of externalities.

Jifree THfgfore e GLoR GFeifs aeEsa F9 |

What is meant by transboundary environmental problem? Give two examples.

AR A TeR AT T Fece I Q@RI ? ¥t SwiRdd we |

With a suitable diagram, explain the notion of tradable pollution permit.

Toge Tz Jifereni=ait vad Sqafed (permit) qRelfs pr<m 75 |

How can you show optimal pollution in terms of a diagram

3T5 Bras MR FI 779 Freld RC?

Discuss some key environmental problems affecting human life.

MR GRER ACF Fhodq [Fg AL ARCI*ITS A0 FHCE A6 9 |

Discuss briefly the relation between trade and environment.
Jiferey @I ATRTNR T AT AT WA 9
What is the function of pollution control institution? In this context discuss the role

of IPCC or green bench.
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(h) Discuss the concept of Sustainable development.

I THACGTR {IFel SCETD F9 |

2. Answer any three (3) questions: 10x3 = 30
@ s oS draa Tex whs-

(a) Discuss the concept of property right and the relevance of coase theorem in this

context.

THE AP IFlB DA F9 @72 @F AfMEAFCS coase W ©GLA AMES! (ANS |

(b) Discuss in short the basic concept of cost benefit analysis.

Cost benefit analysis @9 & QNG ALTHCA DA F 1

(c) Elaborate the link between economy and environment.

QLAY I AREER T A @i Qeawa 9

(d) Distinguish between public, private, open access and common property resources.

T, G FHo W, TP WRFATIN FoM G AR F=ma WKy 2N = 41

(e) Using a diagram, explain the concept of pigovian tax.

o s Prefea Sa =4 g F9
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1. Answer any Six (6) questions: 5x6 =230
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a. What are the main objectives of public finance? Distinguish between public goods
and private goods.
TR WLGIB I FEf F 2 A0 7 GR IS RGN AL @19

b. What do you mean by the term market failure? Briefly discuss the main causes of
market failure.
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c. Write a short note on the Laffer curve.
Laffer curve €9 &9 «<6 BF @12 |

d. Discuss the Coase theorem in public finance.
TG SR Coase S AT T4 |

e. Write a short note on the Lorenz curve. If a nation’s Gini coefficient is 25.0, what
does that say about income inequality in this nation?
Lorenz curve (& 3o B! @121 IM @8 @R A 7= 25.0 = ©@@ G183 AR
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f. What is zero-based budgeting? Write merits and demerits of a deficit budget.
ey fefes Aaibe f6? e AMtecsa Jfd @2 SERUeTeT @12

g. Distinguish between external and internal public debt.

e Qe TrefEAd AT A a7 gy AL FE |



. Explain the concept of balanced budget multiplier.
T JCECE SRR QIS [T 4 |

Answer any three (3) questions: 10x3 = 30
@ e foqfb draa Tea wis-

. What is the social cost of production? What do you mean by economy-environment
interfaces? - discuss briefly.
TR AN 7 F? SLANO- AR BT W00 F Q@ ? - 7Y
IO 1

In controlling inflation, discuss the role of fiscal policy. Briefly describe shifting
and incidence of tax.
Trie fraed, feFe Tfer g fe wieenal Sl S g3 FA5S T4
AL I T

Describe the merits and limitations of the benefit approach to taxation? Briefly
discuss basic assumptions and logic of the Ability to pay approach to taxation.
FEA RAR “afed R4 @32 FTmeiefd 90T e FEd (wg 'afkf@q’ § o
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. What do you mean by optimal taxation? Discuss the types of GST in India.
Distinguish between GST and VAT (with a suitable example).
5N I WY F? OrRce fqant geef e eEsar s e g3 ot
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. What is a progressive system of taxation? Do you think that an indirect tax
necessarily imposes an excess burden compared to a direct tax of equal yield? Give
reasons. Briefly discuss the causes of the increase in public expenditure in India.
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